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(141231430 ik %3 8 3 &I - 18 &) 9m37
41511616 K £ &2k 3 (5 - @ &) 9m28
5[1011908$5 A [ &= 3 (A I - 4& &) 8m98
6[13] 709%k )1l & 3}3 CGR - & &) 8m63
7016] 114 &3 (AMTR-ES) 8mb9
8[ 6]1513@ 16 & =} 3 (WM& - 45 &) 8mb4
9[ 2]1811 0 &% A3 ()1 - & &) Tm90
10[ 3]1323& 7k  #3 (KRWK-1&KE) Tmb8
ML5] 3T KHE KBS G -& &) TmbT
120 111019587 H+ & A2 (EHF -5 Tmbd
130 7] 60TAR AR L2 A 3 (46 - 15 &) 6m84
1412117094 & M &2 (R4 - & ) 6m09
1560 9] 812i s H K23 (KI5 - &) 6m04
160 8] 5127 11 K& 1 (FfH -8 ) 5m38
170 4120191 3% B5 fn 2 CEJI - /& &) 4m97
PELT EBB RE
1[3) 226/9 % {5 4% 3 (AT - ER) 1l
2012) 140K fEH02 (AIlH%-EH) 1m38
3[ 1]J1530%k )1l #T H 3 (WA -t& &) 1m32
4710] 7384 ¥ E#L2 (H - & &) 1m32
5[ 2112204 % A 3 (P& 5) 1m23
6[ 5]19269% H E 3 (Al - &) 1m23
70 8] 32665 WEmi2 GEAL-#& &) 1m23
8[ 4]1034 = R ZF ACH 3 (ARE _-FE) 1m23
[ 6] 943% % E k2 (R — G HHELL
[ 71141585 K (=451 CRIG -8 B) i L
[ 9] 439750 = 3 (M- 1) eegi L
[11]12229%% ¢ (£ 35 3 (OLEER-ES) L L

heZFHE EEPE RE
1[16] 9429 & A v 2 (BHFE—E5) 4mbd -0.2/358 4mb5 -0.2
2[18]153942 F  #H2 WA -4 &) 4m29 +0. 27858 4m29 +0.2



3[ 5] 2279 £ 0y 83 (AW 1EE) 4m26 —1.520F8 4m26 -1.5
41 412328 3% Em'n%zﬁs G -5 5 4m12 -0. 22382 4m12 -0.2
5014119251 & &3 (AJIl-f& &) 3m95 +1. 0452 3m95 +1.0
6[ 7]2230%% E  H ME3 (OLER-fER) 3m89 +0. 4458 3m89 +0.4
70131104285 A o8 {E3 (EHE %) 3m89 -0.443E2 3m89 -0. 4
8[10]1610A4 2 A& &2 (4 - & &) 3m89 +0.4/252 3m89 +0.4
9[ 6] 736« AF A2 OR - & &) 3m88 +0.5/452 3m88 +0.5
100 8] 1418 0 ¥ H 3 (AWHTR-ES) 3m77 -0. 52858 3m77 -0.5
ML 1] 824F B E£ME3 (KIG-# &) 3m7b +0. 52458 3m75 +0.5
12[12]1808 % ik & fE 3 (&I - 48 &) 3m70 -0. 2858 3m70 -0.2
13[ 2] 6378+ K HE IE3 (EM-ta ) 3m62 0.0458 3m62 0.0
14117] 3244 i = & A 1 (L - %8 &) 3mb6 +0. 8352 3mb6 +0. 8
151111219/ 2 B R 3 (P & - 5 &) 3mb6 -0. 22252 3mb6 0.2
16[15]2025%% k& £k 2 (EJI - %8 &) 3m10 +0. 3252 3m10 +0.3
170 9111028 B Fi AR 2 JI 4 - 48 &) 2m96 +0. 32458 2m96 +0. 3
[ 3] 44075 & R WR 3 (AR -8 5) EHE

h T A2 721ke] SRES

1010123297k B P 3£ 2 LI -2 &) 9m25
2[ 6] 8255 )Il~ VU > 3 (K15 - ?Ea%) 9m15
(17119285 ik = 22 (1)l - 15 &) 8md2
A0 412427 KR % £ w3 (- 1& 5) 8m31
5[19]1623E & A& #13 (& - f& &) 8m30
6[11] 37 H W A3 GE - & &) Tm87
7013]1223137 i # 25 3 (ObER-EE) TmT1
8[18] 6361F% i5 ﬁ}ES (T - 18 J5) Tm64
O[ 111534 BFJEFL 25 3 (M & - #58 &) Tm60
10[14] 4413 A 3 (AR - t&5) Tmb6
110 3] 142/~ #% 2 (AP R-ES) Tmb6
12[16]1045%¢ H — %2 (A _-F5) 6m98
13[ 5]1813 KR Z NAE AL 2 (f)1] - 1% &) 6m98
140 2112231 & # B3 (F -8 5) 6mb8
15[ 712021 KRJINN A Je 2 (E)I] - 48 &) 6m41
16 [15] 5148k B H 5 3 (F & -8 &) 5m70
170 9] 325468 1 22 CGRAL-4&8 &) 5mb7
18[ 8] 93375 pk =1 (FME— &5 4m09
19[12]1726 )\ % &1 (RE&S-1& ) 4m06

B FHE miEfaAL B [4. 000kg] R
10 1] 4098 A  %F 15 3 (A F - & &) 10m22
20 7] 91975 JI| & Bi3 (W% &5 Im8o
3[ 5] 813F k. & K3 (K1E -1 5 Im20
AL 212214 K75 4 K 3 (DbEEE-EE) 8m82
5[ 4] 234/ 5 B2 (AWE_-EE) Tmbl
6[ 6] 309 A1 R K3 (HIL-#& E) 6m87
70 8120101 & I= & 2 (K )1 - #& &) 6mb3
8[ 311607/ 42  Hi2 (F - 1@ B) 6m4l
[ 915013t i & 43 (WA - & B) EiE



mEBETHE 4 00m RECH)

(1#8])

1[0 41100285 A & > 3 (BH% —-f5)53. 41
2[ 611306 H: L&z 523 (RK - 15 ) 54. 65
31 37180285 A 44 75 3 ()1l - 4 ) 1:00. 72
4[ 8] 4051& g K22 (AiM k) 1:02.17
5[ 7]23054% M B3 (%Il - & &) 1:02. 86
60 2] 603¢n K E .02 GRAS- & &) 1:04.42
70 5] 9128n K = 1E2 (BHE @R 1:04.77

(3#8)

10 8] 23170 % o =] 3 (A% —-#2F)58. 93
2[ 711904 /R mL AT 3 ()11 - 4@ /=) 58. 97
3[ 4] 1054%& & K jd 2 (k-4 6) 1:00. 94
4[ 2]1507%5 b i & 3 (& - #& &) 1:02. 84
5[ 61203055 £ K FE3 (EJI- 1@ 5)1:05. 84
6[ 51160911 B Hilg 2 (& - # &)1:06.03
70 3] 51085 A 5 N1 (Fofdi - 44 k) 1:06.13

hFEBEFH

[1#H] ( -0. 4 m)

10 3] 4098 A $F{E 3 (A -f& ) 17. 30
2[ 5] 234/~ ® 2 (AWHE_-EE)19.93
3L 22214 R 77 # K3 (ObrEA-ER)20. 25
410 6]1607/ # A2 (& - f& &)20. 71
504] 3091 A& Z K3 CRIL- & 5)24.70

4 AN
i 3

1 4098 A %E &3 (AR - 1@ ) 17.30 -0.4
J& B 3 (PARE —- #) 19.30 -0.3

2 91974 JI|
3 234/ o 2 (RIH ) 19.93
42214 K 1 K3 (OLT-IFRE & 5) 20. 25
5 813F ik & K3 (K15 - & 5)20.57
61607/ t»  F2 (GF - & 5)20.71
720104k i IEfE2 (R I - /2 F)21.88
8 309H 1 ZF K3 ORI - & 5)24.70

|
<

|
cocoe e

rwbhbowbsbd>

[2%H]

1[ 8]120375 j& 2 (& - & &)57.98
2[ 6]2206% H 2 (OLEBE-fE)59. 78
3[ 5] 308:% A 1%k 2 (AL - 4@ ) 1:00. 09
A[ 7]2405¢%= )11 — 183 (i & - 48 ) 1:00. 18
5[ 2] 7057 i B} 3 CGR - fim &)1:02.67
6[ 311703 % 15 # 723 (R4 -1& k5)1:03. 57
70 4] 8054 M #H3 (Kf5 - &)1:09.22
4> N

e 3

1100285 K 4B 3 (B0 -t 55) 53. 41
2 1306 7 E Bz 523 (R WK - & K5)54. 65
312037 fE 2 ("B & - f& &5)57.98
4 2317H Bk M w3 (EEE - 1@ ) 58. 93
51904 R A3 CH I - & J55)58.97
6220675 M 42 (Ob7FR-f5)59. 78
7 3083i% K. &2 (R b - #& &) 1:00.09
8 24051% JI  — 18 3 (& B - & &)1:00.18

B PUFE1 1 OmHI[0.914m/9. 14m ] R (248)

[248] ( -0.3 m)

105] 91995 JIl & B 3 (BHE—4E)19.30
2[ 6] 813F ik & K3 (K15 -1 5)20.57
3[ 4]20104%& ik =B 2 (E)I - & &) 21. 88

EP%%%,\;_ PgfE4 0 Om R

1[ 4] 409 8¢ A

2[ 8] 234/ &

3[ 3] 813 ik
41 7]1607/)v 2
5[ 5] 91974 JI|
6[ 612214k 77
70 1120104% fi%
8[ 2] 3091 A

)
53 (A -8 5)55. 72
& 2 (A -1 5)58. 39
K3 (K1E - 1@ 5)60.94
M2 & - 8 5)62.75
J2 3 (B — & R)62. 89
K3 (ObEER-ER)63. 37
=18 2 (E)I - 18 55) 64. 48
K3 (HAL- 1% )68. 84



4 FHE MFE1 0 OmHI[0. 762m/8. Om] R ps%

( 0.0 m)

10 5] 22878 jiEF 23 (AWMFE_-fER)16.77
2[ 2]1301% N E 3 (KK - 4@ 55)16. 93
3[ 3] 939 MR IRBE AL 3 (HMF—1E5)17. 04
41 412232 W #k %2 (OLEER-EE)19. 84
5[ 711535 KT N A5 JH 2 (M & - 13 &) 20. 61
6[ 6] 1437/A1) ) AT 4y 2 (AT -7 5)24. 92

P FHE ME2 0 Om R
( -0.2 m)
10 3] 22878 jiF 23 (AWHE_-1ER)28.94
2[ 4] 939 MR IRBEAE 3 (HMF—15)29.18
3[ 7122327 M Mk %2 (ObriE-HE)31.19
41 5113014 & Jn E 3 (KWK -4 &) 31. 20
5[ 6] 1535 N A5 KL 2 (B & - 4@ ) 31. 27
[ 8] 1437AN) VAT 4y 2 (AFH -1 5) £4&

hERFHE WEESH R
[ 9] 813& sk & K3 (KA5 -t &) 1mb7
[ 5] 4095 A %E &3 (AR -f&E) 1md8
[ 2] 309 7 ZR K3 (GEAL-#E ) 1mdb
[ 412214 K7 # K 3 (ObEER-EE) 1mdb
[ 1] 234/ & 2 (AWE_-EE) 1md2
[ 311607/ ¥  $H2 (& - #% &) 1m39
[ 8] 919v8 JIl J& B 3 (FME—#EE) 1m36
[ 7120104k i =48 2 ()1 - 43 &) BBk % L
[ 6115013 Bk 1B 4= 3 (W & - 18 =) M

P FiE miERAK[2. 7121kg] R
[ 111535 KT N A I 2 (W& - 18 ) TmaT
[ 4] 22878 Wk %% 3 (AWF_-%&5) Tmlb
[ 2] 1437AN) VAT 4 2 (BfH 54 E) 5m56
[ 51301 j#& N 2 3 (KWK - & &) 5mb4
[ 3122325 W #k % 2 (ObHEFR-EE) 5m04
[ 6] 939 MR iRIEAE 3 (FHF—E5) 4m83

hELZFH@E MEESHE R
[ 5] 939 MR RIEAE 3 (BHEFE—EE) 1m36
[ 311535 KT N A5 R 2 (W& - 48 &) 1m27
[ 1] 22878 k%% 3 (AWFE _-1E5) 1m24
[ 2]2232%5 W #k %2 (OLEER-ER) 1m24
[ 41130122 8 N E 3 (WK -4 5) 1m24
[ 6] 1437/ 770274 2 (AR 4-EE) 1m18

2B FHE mERRE RS

10 2] 4094 A L3153 (A -1&5)2036mm -0.4
2[ 9] 813F B A& K3 (KME -4 k) 15674 -0.3
3[ 4] 234/ & #2 (AFFE EE) 14995 0.4
41 8] 91978 JII 42 B3 (BM%E— 514914 0.3
5[ 112214 K 77 # K 3 (OhriE-fEE) 14034 -0.4
6[ 511607/ ¥  HH2 (5 - & B)12024 -0.4
70 3] 30910 A ZE K3 (k- @) 8894 -0.4
8[ 7120104 ¢ [T 152 (E)I - &% &) 7694 -0.3

[ 6]15013T i 2 43 (A - & 5 KRG



hZrF4HE MERRE R
104] 22878 jE %3 (AWHE_-EE)18771= 0.0

2[ 2] 939 M IRIEAE 3 (BME—%5)18014 0.0

3L 11130122 N E 3 (B - & ) 15985 0.0

47 611535 KT N A JE 2 (Ml & - 4% ) 13958 0.0

5[ 3]2232% M #k %2 (ObEER-fEE) 127948 0.0
[ 5] 1437A NI UAT 4 2 (A g 455 4R



